B FN44E T AKoH OB OB R (OER HF T £ E)

%K B P FUKIRATH JUK) H2KIEA T H JFK) FKIEATH JRK) ]

A TE H KB VE | BONIE | /B | CFME | | 3K | BONIE | BoME | CFIE | | K | BNE | BoME | PR | K
K OVEAAE

— R 1001 /ml 3 0 ol 0 12 0 0 0ol 0 12 0 0 ol 0 712
N BiShinsd NN Ny ARl 0 12 Ny NN AR 0 12 NN Ny AR 0 7 12
HRID LR DG 10.003 mg/1 [< 0.0003 [< 0.0003 [<  0.0003] 0 1]< 0.0003 < 0.0003 [< 0.0003] 0  1]< 0.0003 Kk 0.0003k 0.0003] 0 1
KSR XZDALEY) 0.0005 7 < 0.00005 [< 0.00005 [< 0.00005 [ 0 1]< 0.00005 [< 0.00005 [< 0.00005] 0  1]< 0.00005 K 0.00005 kK 0.00005] 0 1
LU NDPZEOEY  10.01 < 0.001[< 0.001]< 0001 o 1< 0.001]<  o0.001[< o0.001] 0 1]k o000tk o000tk 00010 1
sh M NZFDALEY) 0.01 ” < 0.001[< 0.001]<  0.001] o 1fJ< 0.001]<  0.001 < o0.001] 0  1]< o000tk 0001tk 0.001] 0 1
EE L RZEDILEY 0.01 < 0.001[< 0.001]< 0001 o 1< 0.001]< o0.001[< o0.001] 0 1]k o000tk o000tk 00010 1
N AN A/ 0.02 ” < 0.002 [<0.002 < 0002 0, af< 0.002 < 0.002[<  0.002] 0 4 0.002K  0.002k 0002 0 4
MR HE = = 0.04 < 0.004 < 0.004f<  0.004] 0 1|k 0.004]<  0.004]< 0.004] 0  1]< 0004k 0004k 0004 0 1
LT AAA L RO 7[0.01 0 < 0.001 [< 0.001[< 0.001[ 0o 1< 0.001 < 0.001[< 00010 7 1]k 0001tk o000tk 00010 1
EERE 2R R R OV R BE 22 32 [ 10 I 6.27 5.48 5.95] 0 12 5.60 4.83 5281 0 12 5.78 5.17 550 0 7 12
T M OZOILEY 0.8 < 0.05 |< 0.05 [< 0.05] 0 1K 0.05 |< 0.05 |< 0.05] 0 / 1k 0.05 K 0.05 K 0.05] 0 / 1
RUZMOZOEY (1.0 < 0.02 [< 0.02 |< 0.02] 0/ 1) 0.02 |< 0.02 [< 0.02 0 / 1] 0.02 k 0.02 K 0.02] 0 / 1
ERIAES 0.002 1 < 0.0002 [<0.0002 < 0.0002 0, 4f]<  0.0002 [<  0.0002 [< 0.0002] 0  4]< 0.0002 K 0.0002 K 0.0002| 0 4
1,4- A% 0.05 / < 0.005[<  0.005]< 0005 0o 1< 0.005[]< 0.005[< 0.005] 0 ~ 1] 0005k 0005k 0005] 0 1
VA-1,2-v/maIFuy LR
NV A1 .2 JanTFly 0.04 » < 0.0002 [< 0.0002 |<  0.0002 | 0, 4]< 0.0002 [< 0.0002 [<  0.0002] 0 4 0.0006 0.0005 0.0006 | 0 / 4
A=Y % 0.02 ” < 0.0002 [< 0.0002 < 0.0002 0, 4f]<  0.0002 [<  0.0002 [< 0.0002] 0  4]< 0.0002 K 0.0002 K 0.0002| 0 4
SRS 7T F L 0.01 0.0021 0.0019 0.0020| 0 4 0.0044 0.0041 0.0042] 0 ~ 4 0.0008 0.0007 0.0008| 0 / 4
N7+l 0.0l 0.0006 0.0006 0.0006 | 0, 4 0.0006 0.0005 0.0006 | 0 / 4 0.0006 0.0006 0.0006 | 0 / 4
% 0.01 < 0.0002 [<  0.0002 [< 0.0002] 0, af]< 0.0002 [< 0.0002 [< 0.0002] 0  4]< 0.0002 K 0.0002 kK 0.0002] 0 4
e 0.6 I 0/ 0 0,/ 0 0,/ 0
7 aa FERg 0.02 0/ 0 0/ 0 0,/ 0
gzl 0.06 ” < 0.001 [< 0.001]< 0001 o, 3]< 0.001]<  0.001f{< 0.001] 0 3] 0001k 0001k 00010 3
Truupilg 0.03 ” 0/ 0 0./ 0 0/ 0
T O anais 0.1 ” < 0.001 [< 0.001]< 0001 o 3]< 0.001]<  0.001f{< 0.001] 0 3] 0001k 0001k 00010 3
R 0.0l 0/ 0 0,/ 0 0/ 0
FRU N AZ 0.1 ” < 0.001 [< 0.001]< 0001 o 3]< 0.001]<  0.001f{< 0.001] 0 3] 0001k 0001k 00010 3
N7 e el 0.03 ” 0/ 0 0/ 0 0,/ 0
T IO RAL 0.03 ” < 0.001 [< 0.001]< 0001 o 3]< 0.001]<  0.001f{< 0.001] 0 3] 0001k 0001k 00010 3
T OERILA 0.09 < 0.001[< 0.001]< 0001 o 3l< 0.001]< o0.001f{< o0001] 0 3]k 0001k o000tk 00010 3
LT LT ER 0.08 7 0,/ 0 0,/ 0 0.,/ 0
Hgn M O DS 1.0 < 0.01 < 0.01 [< 0.01] 0,/ 1K 0.01 [< 0.01 < 0.01] 0 / 1 0.01 0.01 0.01] 0 / 1
TN L NFDILEW0.2 1 < 0.02 < 0.02 < 0.02] 0 1K 0.02 < 0.02 < 0.02] 0 / 1k 0.02 K 0.02 k 0.02l 0 / 1
&k M O DL EW 0.3 ) < 0.03 < 0.03 [< 0.03] 0/ 1K 0.03 [< 0.03 < 0.03] 0 / 1] 0.03 K 0.03 k 0.03] 0 / 1
&l e N DAL EW 1.0 < 0.01 [< 0.01 [< 0.0l 0/ 1K 0.01 [< 0.01 [< 0.0l 0 ~ 1[ 0.01 K 0.01 K 0.01] 0 / 1
TR L L OZEDLEY 200 v 6.9 6.9 69] 0 1 6.8 6.8 6.8] 0 / 1 7.7 7.7 7l o 1
~ A OZEDILEY 10.05 v < 0.005 < 0.005]<  0.005] 0o, 1< 0.005]<  0.005[< 0.005] 0  1]< 0.005K 0.005k 0.005] 0 1
kA4 200 U 8.5 7.9 8.1] 0 12 7.6 7.2 741 0 12 14.4 12.3 1330 0 7 12
Ty b Ry NG [300 111 111 111 o7 1 104 104 104 0 71 140 140 140l 0 71
IR 500 181 181 1811 0, 1 176 176 176 | 0 1 218 218 218 0 7 1
R A A S s PEA] 0.2 I < 0.02 [< 0.02 |< 0.02] 0/ 1 0.02 |< 0.02 [< 0.02 0 / 1]« 0.02 k 0.02 K 0.02] 0 / 1
VA AI 0.00001 7 J<0.000001 [< 0.000001 |< 0.000001 [ 0  1]< 0.000001 [< 0.000001 [< 0.000001 ] 0  1]<0.000001 kK 0.000001 K 0.000001] 0 ~ 1
2 — AF L AVRAFA—MIB) 10.00001 # ]<0.000001 [< 0.000001 [< 0.000001 ] 0 1< 0.000001 [< 0.000001 [< 0.000001 | 0  1]<0.000001 Kk 0.000001 K 0.000001] 0 ~ 1
FEAA SR i A 0.02 ” < 0.002 [< 0.002 < 0.002] 0o, 1f<  0.002 < 0.002[<  0.002] 0  1]< 0.002k 0002k 0.002] 0 1
7 ) —)L¥A 0.005 U < 0.0005 [<  0.0005 < 0.0005] 0, 1]< 0.0005[<  0.0005 [< 0.0005] 0  1]< 0.0005 K 0.0005 kK 0.0005] 0 1
GHE(EEIRFETOCODR) 3 » < 0.2 [< 0.2 [< 0.2] 0, 12[K 0.2 [< 0.2 [< 0.2l 0 12 0.2 K 0.2 K 0.2] 0 /12
pHAE 5.8~8.6 7.1 6.9 7.0 0 12 7.0 6.9 691 0 12 7.0 6.8 69 0 7 12
IR R TRNIE Haal] Bl EEARLl 0 12| Bl Bl BEEALl o0 12| BEAeL] O EEAL] BEARLL o0 12
B ) wapl|  RmEsaL] RmERL] o 12| BEsL] REARL] RBEARLL o0 12| RBEARL|] RBEAL] BEAsLl o 12
YA 5% < 0.5 [< 0.5 [< 05| 0, 12] 0.5 [< 0.5 [< 051 0 12]< 0.5 K 0.5 K 05l 0 / 12
P iE iy < 0.1 [« 0.1 [< 0.1 07 12K 0.1 [< 0.1 [« 0.1 0 ~12[ 0.1 K 0.1 k 0.11 0 / 12
A — 0 0 ol 0 12 0 0 0ol 0o 12 0 0 0ol 0 /12
1 Je ope % Al o Ll 2000 L FCT) 7 7 71 0/ 1 3 3 3l 0o 7 1 220 220 2201 0 /1
JVT AR T A {i#/101 0 0 0l 0 4 0 0 oo ~ 4 0 0 0l 0 7 4
TN T /101 0 0 0] 0 4 0 0 010 7 4 0 0 0] 0 7 4
EARULE R mS/m 26.3 25.9 26.1 12 25.6 24.7 25.1 12 32.3 31.7 32.0 12
IKI. C 18.1 16.8 17.4 12 17.9 17.0 17.4 12 18.0 17.5 17.7 12
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fo2 7K 5 il _ FHE1EH (JFK) _ _ EH3EH (JFK) _ T4 5H (JFK) _ _ EHI A (JFK) _ T (JFK) _ _ DU A B K BT (JFK)

R H g%’f%{/ﬁ wmAE | FmME | CESE Bl 2| mRME | H&/IME RS B2 | mKRME | s/AME | M Bl 2| mRME | H&/IME ST B2 | mKRME | s/AME | M Bl 2| mRME | H&/IME ST IEES
VAT

— I A 100{# /ml 12 0 110 712 109 0 0] o0 711 0 0 0l 0 712 0 0 0]l 0 712 0 0 0l o 712 5 0 1] 0/ 12
KIGE friEn Aoy A NS AR 0 12 A At ] 0 11 At NS AR 0 12 NS At ] 0 12 At N AR 0 12 N At Tt 0 12
BRIV OPZEDLEY 10.003 mg/l [ 0.0003 [< 0.0003 [<  0.0003| 0 ~ 1J< 0.0003 [<  0.0003 [< 0.0003] 0 ~ 10< 0.0003 < 0.0003 [< 0.0003[ 0 ~ 1]< 0.0003 < 0.0003 [< 0.0003] 0 7 1]< 0.0003[< 0.0003 [<  0.0003] 0 ~ 1]< 0.0003 [< 0.0003 0.0003] 0 1
IKERM NEDILEWY 0.0005 7 <_0.00005 |<_0.00005 [< 0.00005 [ 0 ~ 1]< 0.00005 |< 0.00005 [< 0.00005 | 0 ~ 1]< 0.00005 [< 0.00005 [< 0.00005 ]| 0 1< 0.00005 [< 0.00005 [< 0.00005 | 0  1]< 0.00005 [< 0.00005 [< 0.00005]| 0 ~ 1]< 0.00005 [< 0.00005 0.00005[ 07 1
BLUKROEDLEY  [0.01 » < 0.001 < 0.001 [< 00010 7 1] 0.001]|< 0001 < 0.001]0 ~ 1]< 0.001[< 0001 < 0.001] 0 7 1]<  0.001 < 0.001[< 0.000] 0 7 1]< 0001 < 0.001]< 0.000] 0 7 1]< 0.001[< 0.001 0.001| 0 1
S Kk OZ DAY 0.0l » < 0.001 < 0.001 [< 00010 7 1]< 0.001]< 0001 < 0.001]0 ~ 1)< 0.001 < 0001 < 0.000] 0 7 1]<  0.001 < 0.001[< 0.000] 0 7 1]< 0001 < 0.001]< 0.000] 0 7 1]< 0.001[< 0.001 0.001| 0 1
EE K OZDILEY 0.0l » < 0.001 < 0.001 [< 00010 7 1] 0.001]< 0001 < 0.001]0 ~ 1]< 0.001 < 0001 < 0.000] 0 7 1]<  0.001 < 0.001[< 0.000] 0 7 1]< 0001 < 0.001]< 0.000] 0 7 1]< 0.001[< 0.001 0.001| 0 1
AMiiza b &Y 0.02 n < 0.002 < 0.002]<  0.002] 0 7 4]<  0.002 < 0.002 < 0.002] 0 ~ 3|<  0.002[< 0.002[< 0.002] 0 7 4] 0.002]< 0.002]< 0.002] 0 7 4]<  0.002 < 0.002]< 0.002] 0 ~ 4]<  0.002 [<  0.002 0.002] 0 1
AR IE 22 3R 0.04 n < 0.004 < 0.004 [< 0004 0 7 1] 0.004]<  0.004[< 0004 0 7 1]<  0.004 < 0004 [< 0004 0 7 1]<  0.004[< 0004 [<  0.004] 0 7 1)< 0.004 [< 0.004 < 0.004] 0 7 1]<  0.004 [<  0.004 0.004[ 0 1
ST AL B O 7 [0.01 0 < 0.001]< 0.001]< 00010 7 1J< 0.000[< 0.000]< 0.001]0 ~ 1]< 0.001[< 0.001[< 0.000] 0 7 1] 0.001]< 0.001]< 00010 7 1]<  0.001[< 0.000][< 0.001]0  1]< 0.001 <  0.001 0.001] 0 1
g e 3 e N iR e % 3 |10 I 3.84 3.14 3.471 0 7 12 3.20 2.08 24910 /11 4.54 3.70 4.03] 0 /12 2.72 2.11 2321 0 /12 6.62 5.67 5981 0 7 12 3.26 2.86 3.071 0/ 12
T M OFONEY (08 < 0.05 |< 0.05 |< 0.05] 0 / 1[< 0.05 [< 0.05 [< 0.05] 0 / 1k 0.05 |< 0.05 |< 0.05] 0 / 1[< 0.05 [< 0.05 [< 0.05] 0 / 1k 0.05 < 0.05 |< 0.05] 0 / 1[< 0.05 [< 0.05 0.05] 0/ 1
RURKOZEOEY (10 » < 0.02 |< 0.02 |< 0.02] 0 / 1 0.03 0.03 0.03] 0 / 1k 0.02 |< 0.02 |< 0.02] 0 / 1 0.02 0.02 0.02] 0 / 1k 0.02 |< 0.02 |< 0.02] 0 / 1 0.02 0.02 0.02] 0/ 1
VUiEAIRSE 0.002 1 < 0.0002 [<_0.0002 < 0.0002| 0  4]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 3]< 0.0002 [< 0.0002 [< 0.0002] 0  4]< 0.0002 < 0.0002 < 0.0002| 0 4]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 4]< 0.0002 [< 0.0002 0.0002] 0/ 1
1,47:/‘%%;47“/7{ = 0.05 » < 0.005 < 0.005[< 0005 0 ~ 1< 0.005]<  0.005[< 0.006] 0 ~ 1)< 0.005 < 0.005 < 0.006] 0  1]<  0.005[< 0.005[<  0.006] 0 7 1< 0.005[< 0.005]<  0.005] 0 1]J]<  0.005[<  0.005 0.005[ 0 1
Y A-1,2=y e FLy ]
Ny A-1.9-v"yapzFLy 0.04 n < 0.0002 |<_0.0002 |<_0.0002 | 0  4]<_0.0002 [< 0.0002 [< 0.0002] 0 ~ 3]< 0.0002 [< 0.0002 [< 0.0002 | 0  4]< 0.0002 < 0.0002 |< 0.0002| 0 4]< 0.0002 [< 0.0002 [<_0.0002] 0 ~ 4]< 0.0002 [< 0.0002 0.0002] 0/ 1
A= 0.02 n < 0.0002 [<_0.0002 < 0.0002| 0  4]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 3]< 0.0002 [< 0.0002 [< 0.0002] 0  4]< 0.0002 < 0.0002 < 0.0002| 0  4]< 0.0002 [< 0.0002 < 0.0002] 0 ~ 4]< 0.0002 [< 0.0002 0.0002] 0/ 1
ThoraaxzFL 0.01 < 0.0002 |[< 0.0002 [< 0.0002 [ 0 7 4]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 3 0.0002 [<  0.0002 0.0002 | 0~ 4K 0.0002 [<  0.0002 [< 0.0002] 0 4 0.0009 0.0008 0.0009 | 0~ 4]< 0.0002 [<  0.0002 0.0002] 0/ 1
~NZooxzF L 0.0l » < 0.0002 < 0.0002 [< 0.0002 [ 0 ~ 4]< 0.0002 < 0.0002 [< 0.0002] 0 7 3]< 0.0002 [< 0.0002 [<  0.0002] 0 ~ 4]< 0.0002 [< 0.0002 [< 0.0002] 0 4 0.0006 0.0005 0.0006 | 0 7 4]< 0.0002 [<  0.0002 0.0002] 0/ 1
B 0.01 < 0.0002 [<_0.0002 < 0.0002 | 0  4]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 3]< 0.0002 [< 0.0002 [< 0.0002] 0  4]< 0.0002 < 0.0002 < 0.0002| 0 4]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 4]< 0.0002 [< 0.0002 0.0002] 0/ 1
e 0.6 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
PARI=lAA 0.02 » 0/ 0 0./ 0 0/ 0 07 0 0/ 0 0/ 0
VARI=r N 0.06 n < 0.001 < 0.001]< 0.00L] 0  3JK  0.001[< 0.001]< 0.001] 0 ~ 2]< 0.001 < 0.001f< 0.000] 0 3] 0.001]< 0.001]< 0.001] 0 7 3JK 0.001[<  0.001[< 0.001]0 7 3 0/ 0
A=At 3 0.03 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
VT OEIauRAS 0.1 » < 0.001]<  0.00L < 00010 ~ 3] 0.001]< 0.00Lf[< 0.001]0 7 2]< 0.001][< 0.001f< 0.001]0 7 3J]< 0.00l[< 0.001f< 0.001]0 7 3J]< 0.00l[< 0.001[< 0.001]0 ~ 3 0/ 0
e 0.0l 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
Kb oA 0.1 » < 0.001 < 0.00L < 00010 7 3] 0.001]< 0.00Lf[< 0.001]0 7 2]< 0.001][< 0.001f< 0.001]0 7 3J]< 0.00l[< 0.001[< 0.001]0 7 3J]< 0.00l[< 0.001[< 0.000]0 ~ 3 0/ 0
N7 e EERE 0.03 » 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
TOETIauRrS 0.03 7 < 0.001 < 0.001 < 00010 7 3] 0.001]< 0.00Lf[< 0.001]0 7 2]< 0.001][< 0.001f< 0.001]0 7 3J]< 0.00l[< 0.001[< 0.001]0 7 3J]< 0.00l[< 0.001[< 0.001]0 ~ 3 0/ 0
7 aER/LA 0.09 < 0.001 < 0.001]< 0.00L] 0  3JK  0.001[<  0.001]< 0.001] 0 ~ 2]< 0.001[< 0.001f< 0.000] 0 3] 0.001]< 0.001]< 0.001] 0 7 3J]K 0.001[<  0.001[< 0.001]0 7 3 0/ 0
HILLT VT ER 0.08 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
fgh &k NZDILEY) 1.0 1K 0.01 | 0.01 [< 001] 0 / 1[ 0.01 [< 0.01 [< 0010 / 1)K 0.01 | 0.01 [< 001] 0 / 1[ 0.01 [< 0.01 [< 0010 / 1)K 0.01 | 0.01 [< 001] 0 / 1[ 0.01 [ 0.01 0.01] 0/ 1
TNI= LR OZDAEW[0.2 1 < 0.02 [< 0.02 [< 0.02[ 0 / 1k 0.02 |< 0.02 [< 0.02] 0 / 1K 0.02 [< 0.02 [< 0.02[ 0 / 1k 0.02 |< 0.02 [< 0.02] 0 / 1K 0.02 [< 0.02 [< 0.02[ 0 / 1k 0.02 |< 0.02 0.02] 0/ 1
& OZDILEY 03 » < 0.03 | 0.03 | 0.03] 0 / 1[< 0.03 [< 0.03 [< 0.03] 0 / 1k 0.03 | 0.03 | 0.03] 0 / 1[< 0.03 [< 0.03 [< 0.03] 0 / 1k 0.03 | 0.03 | 0.03] 0 / 1[< 0.03 [< 0.03 0.03] 0./ 1
i V2D AW 1.0 1K 0.01 | 0.01 [ 001] 0/ 1[ 0.01 [< 0.01 [< 0010 / 1)K 0.01 | 0.01 [< 001] 0 / 1[ 0.01 [< 0.01 [< 0010 / 1k 0.01 | 0.01 [< 001] 0/ 1[ 0.01 [ 0.01 0.01] 0/ 1
TR LK RZEDOEY [200 0 11.4 11.4 114 0 /1 11.5 11.5 11510 7 1 10.3 10.3 103l 0 7 1 10.9 10.9 109l 0 7 1 7.2 7.2 7210 /1 10.8 10.8 108] 0 1
~UHUROREDILEY [0.056 < 0.005 < 0.005[<  0.005] 0 7 1] 0.005]|< 0.005[<  0.005] 0 7 1]< 0.005[<  0.005[< 0.006] 0 7 1 0.005 0.005 0.006] 0 1]<  0.005[<  0.005]<  0.006] 0 ~ 1J]<  0.005[<  0.005 0.005[ 0 1
Eik A4 200 6.7 6.0 630 712 6.1 5.8 59| 0 711 6.5 6.0 630 712 6.0 5.3 56| 0 /12 14.0 13.0 134 0 /12 6.3 5.8 6.0 0 12
BN b=y Xy W) |300 0 107 107 107l 0 7 1 118 118 1181 0 7 1 109 109 109/l 0 7 1 107 107 10710 7 1 119 119 119/ 0 7 1 111 111 11l 0o/ 1
ZEIE TR 500 183 183 183 0 /1 183 183 183 0 7 1 167 167 670 7 1 169 169 69 0 7 1 195 195 1950 7 1 180 180 180 0 1
[ A 7> S 5 T A 0.2 n < 0.02 |< 0.02 |< 0.02] 0 / 1[< 0.02 [< 0.02 [< 0.02] 0 / 1k 0.02 |< 0.02 |< 0.02] 0 / 1[< 0.02 [< 0.02 [< 0.02] 0 / 1k 0.02 | 0.02 |< 0.02] 0 / 1[< 0.02 [< 0.02 0.02] 0/ 1
T AL 0.00001 _»_]<0.000001 [<0.000001 |[<0.000001 [ 0 ~ 1 ]<0.000001 [<0.000001 [<0.000001 [ 0  1]£0.000001 |<0.000001 [<0.000001 [ 0 ~ 1]<0.000001 [<0.000001 [<0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001 | 0 ~ 1 ]<0.000001 [<0.000001 K 0.000001]| 0~ 1
2— AF AV R FA—LMIB) [0.00001 7 ]<0.000001 [<0.000001 [<0.000001 [ 0~ 1 ]<0.000001 [<0.000001 [<0.000001 | 0 ~ 1]£0.000001 [<0.000001 [<0.000001 ] 0 ~ 1]<0.000001 [<0.000001 [<0.000001 [ 0 " 1]<0.000001 [<0.000001 [<0.000001 | 0 1 ]£0.000001 [<0.000001 K 0.000001]| 0~ 1
FEA A S G PER 0.02 < 0.002 < 0.002]< 0.002] 0 ~ 1J<  0.002 < 0.002 < 0.002] 0 ~ 1]<  0.002[<  0.002[< 0.002] 0 7 1] 0.002]< 0002]< 0.002] 0 7 1]<  0.002[< 0.002]< 0.002] 0 7 1]<  0.002 < 0.002 0.002] 0 1
7x/—/VFE 0.005 1 < 0.0005 [<_0.0005 |<_0.0005| 0  1]< 0.0005 < 0.0005 < 0.0005] 0 ~ 1]< 0.0005 < 0.0005 < 0.0005[ 0  1]< 0.0005]< 0.0005 < 0.0005| 0 1< 0.0005[< 0.0005 < 0.0005] 0 ~ 1< 0.0005 [< 0.0005 0.0005| 0~
L EARERFZETOCODE) |3 1 < 0.2 | 0.2 [< 0.2] 0 /12 0.2 |< 0.2 02] 0 /11[< 0.2 |€ 0.2 [< 02] 0 /12 0.2 |< 0.2 02] 0 /12[< 0.2 € 0.2 [< 02] 0 712K 0.2 |< 0.2 0.2 0/
pHAE 5.8~8.6 7.1 6.9 7.0 0 /12 7.1 6.9 7.0]1 0 /11 7.0 6.8 69|10 /12 7.1 6.9 7.0]1 0 /12 7.1 6.9 7.0 0 /12 7.0 6.9 6.9 0/
B B TRLIE L] BEaL] RBEAL| 0 12 EEAL| REAL] BEAL 0 11 B BEAaL] EERLl o 12| BEEsal| BERLL BEALL 0 12| BEARL] Bl BEARLL o0 12| EEARLl BEAL] EERLl 0/
R n L] BEARaL] RBEAL| 0 12 EEAL| REAL] BEAL 0 11 B Bl EERL[ o S12] Bl BEARL] BERL| 0 12 BEAal| EERL] BEARLL 0 12 Bl BERL BEARL] 0/
o 5/ < 0.5 | 0.5 [« 05] 0 /12 0.6 |< 0.5 05] 0 /11[ 0.5 |€ 0.5 [« 05] 0 /12K 0.5 |< 0.5 [< 05] 0 /12| 0.5 |€ 0.5 [« 05] 0 /12 0.5 |< 0.5 0.5 0/
W 20 < 0.1« 0.1 [ 0.1] 0 /12K 0.1 < 0.1 [< 0.1] 0 /11[ 0.1 < 0.1 [ 0.1] 0 /12K 0.1 < 0.1 [< 0.1] 0 /12 0.1« 0.1 [ 0.1] 0 /12K 0.1 < 0.1 0.1 0/
T S 2R A B — 0 0 00 712 0 0 0l 0 711 0 0 0l o0 712 0 0 0l 0 712 0 0 00 712 0 0 of 0o
PEJE R FE A A 2000 BILL FORT) 0 0 oo o 7 7 7o 1 0 0 oo o 0 0 olo o 13 13 3]0 7 1 34 34 34 0
DT RARI DT L /101 0 0 olo /1 0 0 0lo 7 1 0 0 olo /1 0 0 0lo /1 0 0 olo /1 0/
CTINTT /101 0 0 0olo 71 0 0 0lo 71 0 0 0olo 71 0 0 0lo 71 0 0 0lo 71 0/
BRI R mS/m 27.5 25.5 26.8 12 29.1 25.9 28.5 11 27.8 26.9 27.4 12 28.5 26.5 27.5 12 28.1 27.7 27.9 12 28.0 27.1 27.7 12
7K C 19.5 19.0 19.3 12 19.7 14.0 18.9 11 18.7 18.3 18.5 12 19.9 18.8 19.3 12 17.6 17.0 17.2 12 20.0 18.5 19.3 12
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S RNAE AKoH R B O R (% K E £ E)
K B g 5 1 K35 (5 K) 25 26 K5 (k) PR 2S Frfid K 35 (k)
R A I H KB ETE | BmNE | BoME | CFHME | | K | BNE | R/ME | FO| | | K | RONE | BB | CFEE | | XK
Ko OVERAVE

— Al B 100#/ml 0 0 ol o 712 1 0 0] 0 712 0 0 ol o 712
N P A N s ARl 0 12 Ak NN ARl 0 12 N AR AR 0 12
HRIT LR RZEDIEA[0.003 mg/1 [< 0.0003 [< 0.0003 [<  0.0003] 0 ~ 1] 0.0003 [< 0.0003 [< 0.0003] 0 ~ 1]< 0.0003[< 0.0003]< 0.0003] 0 ~ 1
IKER N DAV E W) 0.0005 J1 < 0.00005 [< 0.00005 [< 0.00005| 0 . 1]< 0.00005 [< 0.00005 [< 0.00005] 0  1]< 0.00005 [< 0.00005 [< 0.00005] 0 1
LU KOS [0.01 < 0.001[< 0.001]< o0001] 0  1]< 0.001]<  0.001]<  0.0001] 0 ~ 1] 0.001]<  0.001]< 0.001] 0 7 1
5 M O DAL AW 0.0l ” < 0.001[< o0.001]< 00010 1]< o0.001]< o0.001]< o0.001] 0  1]< o0.001]< 0.001]< 0.001] 0 7 1
tE L RZEDILEWY 0.01 < 0.001[< 0.001]< o0001] 0  1]< o0.001]<  0.001]<  0.0001] 0 ~ 1] 0.001]<  0.001]< 0.001] 0 7 1
N7 oM e 0.02 1 < 0.002[< 0.002]< 0.002] 0  af< 0.002]<  0.002[<  0.002] 0  4a]<  0.002]<  0.002[<  0.002] 0 4
AR HEZE R 0.04 I <0004 < 0.004]< 0.004] 0  1]<  0.004]<  0.004]<  0.004] 0  1]<  0.004 <  0.004[<  0.004] 0 7 1
ST AAA L R O 7 [0.01 0 < 0.001[< o0.001]< 0001 0 4af<c o0.001]< o0.001]< 0.000] 0  4a]< 0.001]<  0.000]< 0.001] 0 7 4
FEERE % 5 ) OV AR RE 22 [ 10 I 41.90 4.17 4.46 0 12 5.06 3.94 465 0 12 3.10 2.30 2.65] 0 12
T M OZFOIEY |08 < 0.05 |< 0.05 |< 0.05] 0 / 1] 0.05 |< 0.05 |< 0.05s] 0 / 1[ 0.05 |< 0.05 |< 0.05] 0 / 1
FUZNMORZOEY (10 » < 0.02 [< 0.02 [< 0.02] 0 / 1[K 0.02 [< 0.02 [< 0.02] 0 ~ 1[ 0.02 [< 0.02 [< 0.02 0 7 1
ERIAES 0.002 < 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 < 0.0002 < 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0 1
1,4- A 0.05 1 < 0.005[< 0.005[< 0.005] 0  1]< 0.005]< 0.005[< 0.006] 0  1]< 0.005[< 0.005[< 0.005] 0 7 1
v A-1,2-V rauzFly g I8

NV A-1,2- JapTFLy 0.04 1 < 0.0002 [<  0.0002 [< 0.0002] 0  1]< 0.0002 < 0.0002 < 0.0002]| 0 / 1 0.0002 0.0002 0.0002| 0 / 1
A= Y% 0.02 1 < 0.0002 [<  0.0002 [< 0.0002] 0  1]< 0.0002 < 0.0002 < 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0 1
T 7unTFL 0.01 0.0011 0.0008 0.00010[ 0 / 4 0.0026 0.0019 0.0023 | 0 ~ 4 0.0004 0.0002 0.0003] 0 4
N ZoooF1L 0.01 ” 0.0003 0.0002 0.0003[ 0 4 0.0005 0.0003 0.0004| 0 / 4 0.0002 [<  0.0002 0.0002 0 4
% 0.0l ” < 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 < 0.0002[< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0 1
SR 0.6 I < 0.06 |< 0.06 |< 0.06] 0 / 4] 0.06 |< 0.06 |< 0.06] 0 / 4] 0.06 |< 0.06 |< 0.06] 0 / 4
7o R 0.02 1 < 0.002[<  0.002]< 0.002] 0  af< 0.002]<  0.002[<  0.002] 0  4a]<  0.002]<  0.002[<  0.002] 0 4
LA 0.06 I 0.001 [<  0.001 0.001] 0 / 4 0.002 [<  0.001 0.002] 0 / 4 0.012 [<  0.002 0.006 | 0 / 4
T aapERg 0.03 1 < 0.003[<  0.003]< 0.003] 0  4]< 0.003[<  0.003[<  0.003] 0 4 0.006 [<  0.003 0.004] 0 / 4
V7 aEyanari 0.1 I < 0.001[< 0.001]< 0.001] 0  4]< 0.001]<  0.001]<  0.001] 0 / 4 0.003 [<  0.001 0.002] 0 / 4
FESA 0.0l ” < 0.001[< o0.001]< o0.001] 0 4 0.001 [< 0.001[<  0.001[ 0 4] 0.001[< 0.001[< 00010 4
R N AR 0.1 I 0.001 [<  0.001 0.001] 0 / 4 0.002 [<  0.001 0.002] 0 / 4 0.020 [<  0.003 0.010[ 0 / 4
N7 aopEfg 0.03 » J< 0.003[< 0.003[<  0.003] 0  4]< 0.003[< 0.003[< 0.003] 0 4 0.006 [<  0.003 0.004] 0 / 4
T O I anRrS L 0.03 1 < 0.001[< 0.001]< 0.001] 0  4]< 0.001]<  0.001]<  0.001] 0 / 4 0.005 [<  0.001 0.003] 0 / 4
7T OERIL A 0.09 7 < 0001 [< o0.001]< o0001] 0 4af<c o0.001]< o0.001[< 0.000] 0  4a]< o0.001]<  0.000]< 0.001] 0 7 4
FILLT VT ER 0.08 1 < 0.008[< 0.008]< 0.008] 0  4]< 0.008]< 0.008]< 0.008] 0  4]< 0.008< 0.008[< 0.008] 0 / 4
Hgh e N DAL &Y 1.0 » < 0.01 [< 0.01 [< 0010 / 1[K 0.01 [< 0.01 [< 0.01] 0 ~ 1| 0.01 [< 0.01 [< 0.0l 0 7 1
TNAR=U LR OEDOEW[0.2 1 < 0.02 |< 0.02 |< 0.02] 0 / 1] 0.02 |< 0.02 < 0.02] 0 / 1[ 0.02 |< 0.02 |< 0.02] 0 / 1
8k N O DL EY) 0.3 1 < 0.03 [< 0.03 [< 0.03] 0 / 1 0.03 0.03 0.03] 0 / 1] 0.03 [< 0.03 [< 0.03] 0 / 1
i NF DAY 1.0 ” < 0.01 |< 0.01 |< 0.01] 0 / 1] 0.01 |< 0.01 |< 001l 0 / 1[ 0.01 |< 0.01 |< 0.0l] 0 / 1
FRIT L OZFDLEY [200  » 8.8 8.8 88|l 0 / 1 7.3 7.3 7310 /1 7.9 7.9 79l 0 / 1
<~ R OZFOEY [0.05 0 < 0.005 < 0.005[< 0005 0 7 1]< 0.005[< 0.005[<  0.005] 0 7 1J< 0.005[<  0.005]< 0.005[ 0 1
WAt A4 200 U 7.8 6.8 7310 /12 8.0 7.2 7710 12 9.8 7.7 8.8 0 12
TV I 3 WEGEEE) (300 I 114 107 109] 0 / 4 103 99 102 0 ~ 4 84 80 821 0 / 4
ISR Y 500 190 163 1721 0 / 4 193 150 1711 0 / 4 155 122 139] 0 / 4
fEA A S s TEAl 0.2 I < 0.02 [< 0.02 [< 0.02] 0 / 1[K 0.02 [< 0.02 [< 0.02] 0  1[ 0.02 [< 0.02 [< 0,02 0 7 1
VA A 0.00001 » < 0.000001 [< 0.000001 [< 0.000001 | 0 ~ 1]<0.000001 [<0.000001 [< 0.000001 [ 0  1]§<0.000001 [<0.000001 [< 0.000001| 0 ~ 1
90— AF LAV FF—1MIB) [0.00001 7 < 0.000001 [< 0.000001 [< 0.000001 | 0  1]<0.000001 [< 0.000001 [< 0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001] 0 1
FEA A Hi s TEA 0.02 < 0.002 < 0.002]< 0.002] 0  1]< 0.002]<  0.002]<  0.002] 0 ~ 1]<  0.002]<  0.002[<  0.002] 0 7 1
7 x ) —)U¥A 0.005 < 0.0005 [< 0.0005[< 0.00056] 0 ~ 1]< 0.0005]< 0.0005[< 0.00056] 0  1]< 0.0005[< 0.0005[< 0.0006] 0 1
GHE (AR FETOODE)[3 < 0.2 |< 0.2 |< 0.2 0 12[< 0.2 [< 0.2 [< 0.2 0 /12 0.4 [< 0.2 0.3 0 12
pHAE 5.8~8.6 7.2 6.9 7.0 0 7 12 7.1 6.9 7.0 0 12 7.3 7.0 721 0 12
IS BTN garie | Bl EmEsL] o 12 EEsaLl BEsaLl BEsaLl o S 12] EEAL] BEeL] BEsL]l 0 12
B [ warieU | sl masL] o 12 EEaLl RBEAaLl RBEaLl o 12 RmEAeL] RmEeL] ®mEeL] o 12
4 Jif 5 i < 0.5 [< 0.5 [< 05[] 0 /12 2.1 < 0.5 0.6 0  12]« 0.5 [< 0.5 [< 05[] 0 /12
) iE 2 < 0.1]< 0.1]< 0.1l 0o /12 0.7 [< 0.1 0.2l 0 /12« 0.1]< 0.1]< 0.1l 0o /12
it M S — 0 0 ol o / o 0 0 o[ o 7 0 0 0 ol o~ o
VE)E 2 ImI1Z20000L T (RF52) 1 0 0l 0 / 3 1 0 ol o / 3 14 0 510 7 3
WEREFR R IR SR 0.1mg/0LL I 0.4 0.3 03] 0 /12 0.4 0.3 0.3 0 /12 0.4 0.3 04 0 / 12
R B mS/m 27.0 25.7 26.1 12 24.8 23.0 24.1 12 23.0 19.4 21.2 12
KA C 19.5 17.0 18.2 12 21.8 15.2 17.9 12 22.2 11.8 17.0 12
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N4 AKoE R OB O OR (K K& £ E)
i K 1 B Fkr (2%7J<) _JERR (5K) SEE A F (#K) jt%%\ (?%7k)\\ \ *ﬁiﬁﬂﬂi?ﬁ (oK)
_ RRZ I OTE - FARE R T - T A - P 25 - A ST PR R 0 T A A B S50 AR ONT0 AN RN |
R TE H g%ﬁi%{@ BONE | /ME Ii’ﬂﬁ W 2 | mNE | m/ME | CFAIE W 2 | mONE | /B | CFHIE W 2 | mNE | m/ME | CEOIE W 2 | mONE | /B | CFHIE EIE=R
NEEAL

— iR 100{& /ml 0 0 ol 0o 12 0 0 0l 0 12 0 0 ol 0o 12 0 0 0l 0 12 0 0 ol o 12
N HiEninoL N N AR 0 12 N R A 0 12 T N A 0 12 N AR TR 0 12 R TR TR 0 7 12
BRIV LR OFDOLE#]0.003 mg/1 [< 0.0003 [< 0.0003 [< 0.0003] 0 ~ 1]< 0.0003 [< 0.0003[< 0.0003] 0 ~ 1]< 0.0003 [< 0.0003[< 0.0003] 0 ~ 1]< 0.0003[< 0.0003[< 0.0003] 0 ~ 1< 0.0003[< 0.0003]< 0.0003] 0 1
IKER M N DALEW 0.0005 7 [< 0.00005 [< 0.00005 [< 0.00005 | 0  1]< 0.00005 [< 0.00005 [< 0.00005 [ 0 ~ 1]< 0.00005 [< 0.00005 [< 0.00005] 0 ~ 1J< 0.00005 [< 0.00005 [< 0.00005] 0 ~ 1]< 0.00005 [< 0.00005 [< 0.00006] 0 ~ 1
TLUROZEORE o001 » J< 0001 [< o0.001]< 00010 1] o0.001]< 0.000[< 00010 1]k o0001f[< o0o001]< o0001] 0 7 1]< o0.001[< 0.001]< 0.000] 0 1K 0.001]< o0.001]< 00010 1
AN ZEDILEW 0.0 » J< 0.001]< o0001][< 00010 1]< o0001[< o0.001]< o0.001] 0 1] o0.001]< 0.001]< 00010 1]k o000t]< o0001]< o0001] o0 1]< o0.001[< 0.001]< 0.001]0 7 1
LE K OZEDILEY) 0.0 »# [J< 0.001]< o0001[< 00010 1]< o0001[< o0.001]< o0.001] 0 1] o0.001]< 0.001]< 00010 1]k o0.00t]< o0o001]< o0001] o0 1]< o0.001[< 0.001]< 0.001]0 1
Nﬂﬁﬁme/\% 0.02 7 < 0.002]< 0.002]< o0002] 0 7 4]< o0.002[< 0.002]< 0.002] 0  a]< 0.002]< 0.002]< 0002 0 4] o0.002[< o0.002]< 0.002] 0 7 a]< o0.002[< 0.002[< 0.002] 0 4
HAEEREE R 0.04 »# [< 0.004]< 0004]< 0004 0 1]< 0.004[< 0.004]< 0.004] 0 7 1] 0.004]< 0.004]< 0004 0 ~ 1]k o0.004]< 0.004]< 0.004] 0 7 1]< 0.004[< 0.004[< 0.004] 0 7 1
s AeAF L RO 7 1001 1 < 0.001 [< 0.001]<  0.001] 0  al< o0.001 < 0.000[< 00010 4fc 0.001[< o0001[< o0.001] 0 4af< o0.001[< 0.001]< 0.000] 0 4]k 0.001]< o0.001]< 00010 4
e ZE 5 K O e iEE # |10 ] 4.87 4.94 455 0 /12 1.81 1.17 44210 /12 4.77 4.18 44510 /12 5.00 1.16 4581 0 /12 3.33 1.97 250 0 12
TR OFOILEY 08 < 0.05 [< 0.05 |< 0.05] 0 / 1[K 0.05 |< 0.05 |< 005 0 / 1] 0.05 |< 0.05 |< 0.05] 0 / 1[K 0.05 |< 0.05 |< 005 0 / 1[ 0.05 |< 0.05 |< 0.05] 0 / 1
FURKRZEOILEY (1.0 < 0.02 < 0.02 < 002] 0 / 1) 0.02 < 0.02 < 0.02[ 0 / 1] 0.02 < 0.02 < 002] 0 / 1) 0.02 < 0.02 < 0.02[ 0 / 1] 0.02 < 0.02 < 0.02] 0 / 1
RERAES 0.002 < 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 < 0.0002]< 0.0002] 0 1]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1] 0.0002 [< 0.0002 < 0.0002] 0  1]< 0.0002 [< 0.0002[< 0.0002] 0 1
L4-AxY 0.05 7 [< 0.005]< 0.005[< 0005] 0 7 1]< 0.005[< 0.005]< 0.0056] 0 7 1]< 0.006[< 0.006[< 00050 1]k 0005[< 0005[< 0005]0 7 1]< 0.005[< 0.0056[< 0.005]0 1
VA1,2- JuaTFy LN
Ny A-1.2-Y yapsFLy 0.04 7 < 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 < 0.0002] 0  1]< 0.0002 < 0.0002 [< 0.0002] 0 ~ 1] 0.0002 [< 0.0002 < 0.0002] 0  1]< 0.0002 < 0.0002 < 0.0002| 0 1
D= Y% 0.02 7 [< 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 [< 0.0002]< 0.0002] 0  1]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1] 0.0002 [< 0.0002 < 0.0002] 0  1]< 0.0002 [< 0.0002 < 0.0002] 0 1
FroZnnxTFL 0.01 7 0.0011 0.0008 0.0010] 0 / 4 0.0011 0.0008 0.0010] 0 / 4 0.0011 0.0008 0.0010 [ 0 / 4 0.0024 0.0021 0.0022] 0 / 4 0.0003 0.0002 0.0002 0 / 4
N ZooxFlL 0.01 0.0003 0.0002 0.0003] 0 / 4 0.0003 0.0002 0.0003] 0 / 4 0.0003 [<  0.0002 0.0003] 0 / 4 0.0004 0.0003 0.0004] 0 / 4 0.0002 [<  0.0002 0.0002 0 / 4
/\‘/ﬂz“/ 0.01 7 [< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002]< 0.0002] 0  1]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1] 0.0002 [< 0.0002 < 0.0002] 0  1]< 0.0002 [< 0.0002 < 0.0002] 0 1

e 0.6 < 0.06 [< 0.06 [< 0.06] 0 / 4]« 0.06 [< 0.06 [< 0.06] 0 / 4] 0.06 |< 0.06 [< 0.06] 0 / 4] 0.06 [< 0.06 [< 0.06] 0 / 4] 0.06 |< 0.06 [< 0.06[ 0 7 4
VAsl=l . 0.02 7 < 0.002]< 0.002]< o0002] 0 7 4]< o0.002[< 0.002]< 0.002] 0  a]< 0.002]< 0.002]< 0002 0 7 4fc o0.002[< o0.002]< 0.002] 0 7 al< o0.002[< 0.002[< 0.002] 0 4
VAE= AN 0.06 0.001 [<  0.001 0.000] 0 / 4 0.001 [<  0.001 0.000] 0 / 4 0.001 [<  0.001 0.000] 0 / 4 0.002 [<  0.001 0.002] 0 / 4 0.009 0.003 0.006] 0 / 4
DA=i=l 0.03 7 J< 0.003]<  0.003[<  0.003] 0 ~ 4]< 0.003]<  0.003]<  0.003] 0 7 4]<  0.003]<  0.003]<  0.003] 0 4 0.003]<  0.003]<  0.003] 0 7 4 0.005 [<  0.003 0.004] 0 / 4
7 aE/aaRrL 0.1 / < 0.001 [« 0.001]< 0.001] 0~ 4]< 0.001]<  0.000 < 0.000] 0  4]< 0.001]<  0.000]< 0001l 0 7 4k 0.001[< o0.001]< o0.001] 0 7 4 0.001 [<  0.001 0.000] 0 / 4
HFE 0.0 »# [J< 0.001]< o0001f[< 00010~ 4]< o0.001[< o0.001]< 0.000] 0  4a]< o0.001]< 0.001]< 00010 4fc o0.001[< o0.001]< o0.001] 0 a]< o0.001[< 0.000[< 00010 4
MR N AK 0.1 » 0.001 [<  0.001 0.00l] 0 / 4 0.001 [<  0.001 0.000] 0 / 4 0.001 [<  0.001 0.000] 0 / 4 0.003 [<  0.001 0.002] 0 / 4 0.014 0.005 0.010] 0 / 4
N7 ooz 0.03  n J< 0.003]<  0.003[<  0.003] 0 ~ 4]< 0.003]<  0.003]<  0.003] 0  4]<  0.003]<  0.003]<  0.003] 0 4 0.003]<  0.003]<  0.003] 0 7 4 0.006 [<  0.003 0.004] 0 / 4
TV /unrg 0.03 7 J< 0.001 < 0.001]< 0.001] 0~ 4] 0.001]<  0.001]< 0.000] 0  4]< 0.001]<  0.001]< 0001l 0 4] 0.001]< o0.001]< o0.001] 0 7 4 0.004 0.002 0.003] 0 / 4
7 OERL A 0.09 »# [J< 0.001]< o0001f< 00010~ 4]< o0.001[< o0.001]< 0.001] 0  4a]< o0.001]< 0.001]< 00010 4fc o0.001[< o0.001]< o0.001] 0 al< o0.001[< 0.000[< 00010 4
FILLT LT ER 0.08 7 [< 0.008[< o0.008[< 00080 4]< o0.008[< 0.008]< 0.008] 0 ~ 4a]< 0.008[< 0.008][< 0.008] 0  4fc o0.008[< 0.008]< 0.008] 0  a]< 0.008[< 0.008[< 0.008] 0 4
Hgh M O F DL EW 1.0 7 < 0.01 |< 0.01 [< 0.01] 0 / 1] 0.01 [< 0.01 [< 0.0t] 0 / 1] 0.01 |< 0.01 [< 0.01] 0 / 1] 0.01 [< 0.01 [< 0.0t] 0 / 1] 0.01 |< 0.01 [< 001l 0o 7 1
TAI=ZT LR OZEDEW| 0.2 < 0.02 |< 0.02 [< 0.02] 0 / 1] 0.02 [< 0.02 [< 0.02] 0 / 1] 0.02 |< 0.02 [< 0.02] 0 / 1] 0.02 [< 0.02 [< 0.02] 0 / 1] 0.02 |< 0.02 [< 0.02[ 0 /1
gL OFDILEW 0.3 < 0.03 [< 0.03 [< 0.03] 0 / 1] 0.03 [< 0.03 [< 0.03] 0 / 1] 0.03 < 0.03 [< 0.03] 0 / 1] 0.03 [< 0.03 [< 0.03] 0 / 1] 0.03 < 0.03 [< 0.03[ 0 7 1
i O DILEW 1.0 < 0.01 [< 0.01 [< 0.01] 0 / 1] 0.01 [< 0.01 [< 0.0t] 0 / 1] 0.01 |< 0.01 [< 0.01] 0 / 1] 0.01 [< 0.01 [< 0.0t] 0 / 1] 0.01 |< 0.01 [< 001l 0o 7 1
TR L OZEDLEW [200  » 9.2 9.2 9210 / 1 8.9 8.9 890 7 1 9.1 9.1 9110 7 1 7.6 7.6 7610 1 8.1 8.1 81l 0 7 1
< R OFOEY [0.05 » |< 0.005[<  0.005]< 0.005] 0 7 1]< 0.006[< 0.006[< 0.005] 0 1] 0.005[< 0005[< 0005] 0 7 1]< 0.005[< 0.005[< 0.006] 0 1K 0.005[< 0.005[< o0005] 0 1
Wik A4 200 7 7.5 6.9 721 0 /12 7.5 6.9 7210 /12 7.6 6.9 721 0 /12 8.4 7.1 7710 12 9.3 7.4 85[0 12
T ey o NEGEE) [300 0 114 110 112 0 ~ 4 114 107 109] 0 /~ 4 114 108 110l 0 4 106 98 103[ 0 4 81 76 7910 / 4
TR 500 212 166 190 0 / 4 199 180 191 0 / 4 212 180 199 0 / 4 207 159 192 0 / 4 162 144 152 0 / 4
FeA A S s Al 0.2 K 0.02 [< 0.02 [< 002l 0 1K 0.02 [< 0.02 [< 0.02] 0 / 1] 0.02 [< 0.02 [< 002l 0 ~ 1k 0.02 [< 0.02 [< 0.02] 0 / 1] 0.02 [< 0.02 [< 0.02[ 0 /1
A A 0.00001 7 [<0.000001 [<0.000001 [<0.000001 | 0 " 1]<0.000001 [<0.000001 [<0.000001 [ 0 ~ 1]<0.000001 [<0.000001 [<0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001 [ 0 ~ 1]<0.000001 [<0.000001 [<0.000001 ] 0 ~ 1
20— AF A VFENL FF—AMIB) [0.00001 7 |<0.000001 [<0.000001 [<0.000001 [ 0 ~ 1]<0.000001 [<0.000001 [<0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001] 0  1]<0.000001 [<0.000001 [<0.000001 [ 0 ~ 1]<0.000001 [<0.000001 [<0.000001] 0 1
FEAA U H i A 0.02 7 < 0.002]< 0.002]< 00020 7 1]< o0.002[< 0.002]< 0.002] 0 1] 0.002]< 0.002]< 0002] 0 7 1k o0.002]< o0.002]< 0.002] 0 7 1] o0.002[< 0.002[< 0.002] 0 7 1
7 =) — )V 0.005 » < 0.0005 [< 0.0005 [< 0.0005] 0  1]< 0.0005][< 0.0005[< 0.00056] 0  1]< 0.0005[< 0.0005[< 0.0006] 0 ~ 1] 0.0005[< 0.0005]< 0.0006] 0  1]< 0.0005[< 0.0005[< 0.0006] 0 7 1
LR AR FETOC)DE)|3 < 0.2 [ 0.2 [< 0.2l 0 12K 0.2 [< 0.2 < 0.2 0 12K 0.2 < 0.2 [< 0.2l 0 12K 0.2 [< 0.2 [< 0.2 0 12 0.4 |< 0.2 03[ 0 712
[pHE 5.8~8.6 7.1 6.9 7010 712 7.1 6.8 7.0 0 7 12 7.1 6.8 7010 712 7.1 7.0 7110 712 7.3 7.1 7110 712
IR BHCRNCE BarrpL | BEAaL] BEALL 0 12| BEEARL| BEARL] BEAL] 0 12 Bl BEsaeL] BEsaeL| o 12 HEarsl| AEAaL|] BEARLl o0 12 BEARL| BEARL] BElL]l o0 12
& I gLl BEaLl BEaLl o 12 BEaL] BEaL] BEaLl o 12| BEaL] BEaL] RBEsLl o 12| BEaL] BEsL] BEALL] o 12| BERL] BEAL] BEAsL]l o 12
B i < 0.5 < 0.5 [< 0510 /12K 0.5 [< 0.5 < 051 0 /12K 0.5 |< 0.5 [< 0510 /12K 0.5 [< 0.5 < 0.5 0 /12 0.5 [< 0.5 [< 0510 12
s 2% < 0.1 [< 0.1 [< 0.1l 0o /12K 0.1 [< 0.1 [< 0.1/l 0 /12 0.1 < 0.1 [< 0.1l 0o /12K 0.1 [< 0.1 [< 0.1/l 0 /12K 0.1 < 0.1 [< 0.1 0 12
U S 0./ 0 0,/ 0 0/ 0 0,/ 0 0/ 0
e S 5122000 5L () 38 2 180 7 3 4 0 2l o / 3 5 2 310 3 0 0 ol o~ 3 1 0 ol o 3
R R R 0.1mg/0LL E 0.3 0.2 03] 0 12 0.3 0.3 0.3/ 0 712 0.3 0.3 03] 0 12 0.3 0.2 0.3 0 712 0.5 0.3 0410 712
BREE R mS/m 27.1 20.9 26.3 12 27.1 25.7 26.4 12 27.1 26.0 26.4 12 26.5 23.4 24.6 12 24.7 19.4 21.3 12
JKIE C 25.0 14.2 19.2 12 22.2 15.0 18.6 12 21.8 14.8 18.4 12 24.0 13.8 18.3 12 25.1 12.0 17.9 12
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21H 21H 21H 21H 21H 21H
TVFE K OEDILEY 0.02mg/1LL F|< 0.002)< 0.002|< 0.002)< 0.002|< 0.002)< 0.002
U7 DAL EY) 0.002mg/12L T (E )< 0.0002]< 0.0002]< 0.0002]< 0.0002]< 0.0002]< 0.0002
=TIV ZEDILEY) 0.02mg/1LL F|< 0.002)< 0.002|< 0.002)< 0.002|< 0.002)< 0.002
1.2-Y /anxhy 0.004mg/1LL FI< 0.0004]< 0.0004]< 0.0004]< 0.0004]< 0.0004]< 0.0004
L 0.4mg/1LL K 0.04)< 0.04J< 0.04)< 0.04J< 0.04)< 0.04
75 VEEY (2—ZF VaFyv) 0.08mg/1LL T 0.008J< 0.008J< 0.008J< 0.008J< 0.008J< 0.008
R 1 20mg/1LL 23 26 25 26 21 20
1,1,1-NJanxzhy 0.3mg/1LL T 0.03)< 0.03]< 0.03J< 0.03]< 0.03)< 0.03
AFN—t=T FINI=T )V 0.02mg/1LL T 0.002)< 0.002|< 0.002)< 0.002|< 0.002)< 0.002
ATHE S GBI~ TR b B ) 3mg/1LL T 0.7 0.5K 0.3 0.6 0.9 0.9
PEJR R A 2,000LL F 9 3 66 4 11 19
1,1-V/auxFlL 0.1mg/1LL FIK 0.01) 0.01[< 0.01) 0.01[< 0.01)K 0.01
JKIR C 17.7 17.5 18.0 19.5 17.3 19.5

¥ ~ULT At TR AVIRFR(PRFOS) i L7 LAt 7 2 L FR(PROA) D 7K B 28 B it 5 1 X B4,




SRR ok 8 W O BRO& R
(F7K) RKEBERUARDOORATEH 165HH (i)
FllAKYS | F2bikE ks midksgle, mrecme|emne s i | v arme x| ks rg ek Db e s ekt
fRAHH A A VB 104 104 104 104 104 104 104 104
20 A 20 A 20 A 20 A 20 A 20 A 20 A 20 A

TVFE R OZEDILEY 0.02mg/181 F|< 0.002[< 0.002[< 0.002[< 0.002[< 0.002[< 0.002[< 0.002[< 0.002
U7 R OZEDILED 0.002mg/ILA FE )l 0.0002f<  0.0002)<  0.0002|]<  0.0002f<  0.0002]<  0.0002f<  0.0002}<  0.0002
=N R RZEDILEY 0.02mg/181 F|< 0.002)< 0.002[< 0.002[< 0.002[< 0.002|< 0.002[< 0.002[< 0.002
1,2-V'/anzsy 0.004mg/ILAF|<  0.0004]<  0.0004]<  0.0004|<  0.0004)<  0.0004|]<  0.0004)<  0.0004|]<  0.0004
[ 0.4mg/1LL FJK 0.04J< 0.04J< 0.04J< 0.04J< 0.04J< 0.04J< 0.04J< 0.04
T HIVEEY Q- F Y 0.08mg/1LL F|< 0.008|< 0.008|< 0.008J< 0.008|< 0.008|< 0.008J< 0.008J< 0.008
Va7 vh=pv 0.01mg/ILL F(E ) |< 0.001[< 0.001}< 0.001}< 0.001}< 0.001}< 0.001}< 0.001}< 0.001
fkyui—n 0.02mg/I1LL F () [< 0.002|< 0.002|< 0.002|< 0.002|< 0.002|< 0.002|< 0.002|< 0.002
EBEIR R 20mg/I1LL F 18 17 10 21 22 21 16 11
1,1,1-F)yppzsy 0.3mg/IL FJK 0.03|< 0.03|< 0.03|< 0.03|< 0.03|< 0.03|< 0.03|< 0.03
AFN—t=T FNT—F I 0.02mg/18L F|< 0.002[< 0.002[< 0.002[< 0.002[< 0.002[< 0.002[< 0.002[< 0.002
A S Gl B AT 2 1) 3mg/ILA F 1.2 0.6 0.8 1.3 0.6 0.5 0.5 0.8
AR (TON) 3ELLTIK 1K 1< 1K 1K 1K 1|< 1K 1
JE§ A IR BEL,
G TR WA SIS -1.0 -1.1 -1.2 -1.1 -1.1 -1.2 -1.1 -1.3
TR A Al B 2,0004 F 1 2 0 12 4 6 0 16
1,1~ /aaxfly 0.1mg/1LL F|< 0.01J< 0.01J< 0.01J< 0.01J< 0.01[< 0.01J< 0.01J< 0.01
B B SR 0.1mg/I1LL | 0.3 0.3 0.4 0.2 0.3 0.3 0.3 0.4
K C 18.4 17.8 18.3 20.5 19.6 19.6 20.7 20.3

X AL LA ad IR ZVREE(PROS) B DML 7 LA a7 2 BE(PEFOA) D /KR 3 ER At B 1 BIHE,




cRAFEE kB2 O BB R

K FEYE K OV :0.00005 meg/1

VT NVA A B RV ERPEOS) e ML T VA A 7 2 ER(PFOA) KEE B A AR ETH

AT 4 H 4 H 7A 7A 8H 9H 104 104 1A 12 1A 14 2H 3A e KAE I/ ME S fE EIE~3
6 H 7H 11H 12H 16 H 13H 20 H 21 15H 14 H 25 H 26 H 14 H 14 H

(JFK)
o UKPR 0.000040 0.000024 0.000031 0.000021 0.000040 0.000021 0.000029 | 0/ 4
KPR 0.000045 0.000027 0.000033 0.000028 0.000045 0.000027 0.000033| 0/ 4
55 3K (k4 1k o) 0.000078 0.000059 0.000071 0.000073 0.000068 0.000072 0.000051 0.000054 0.000058 0.000052 0.000078 0.000051 0.000064 | 10 /10
DU~ 43 B K B R T 0.000039 0.000023 0.000026 0.000023 0.000039 0.000023 0.000028 | 0/ 4
EH A3 S H 0.000033 0.000019 0.000024 0.000033 0.000019 0.000025| 0 3
EHETH 3 0.000043 0.000026 0.000030 0.000026 0.000043 0.000026 0.000031| 0, 4

(I7K)
EALW; 0.000034 0.000022 0.000032 0.000024 0.000034 0.000022 0.000028 | 0/ 4
ol Kk 0.000043 0.000023 0.000027 0.000018 0.000043 0.000018 0.000028 | 0/ 4
FEAEDS F il K 5 0.000020 0.000007 0.000016 0.000008 0.000020 0.000007 0.000013 | 0~ 4
fxo I F 0.000033 0.000023 0.000026 0.000023 0.000033 0.000023 0.000026 | 0~ 4
JEE )R 0.000041 0.000021 0.000026 0.000025 0.000041 0.000021 0.000028 | 0/ 4
DA IGEER 0.000035 0.000020 0.000027 0.000025 0.000035 0.000020 0.000027| 0/ 4
KRFH 0.000035 0.000021 0.000026 0.000020 0.000035 0.000020 0.000026 | 0/ 4
FEAEDS R 0.000011 0.000006 0.000012 0.000006 0.000012 0.000006 0.000009 | 0 4

¥ BE HARE:0.000050mg/1LL T
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